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INTRO TO GAP ALIGNMENT

-CGTG3 biologists tend to prefer larger gaps as opposed to lots of
11

little gaps
* A little bit of biological context:

& DNA is transcribed into RNA ,
which is translated into proteins

↑ RNA is spliced (non-coding introns are removed) before translation

* So , if you have cDNA (synthetic DNA transcribed from mRNA) and you want to align

it with the genome, you want to use an alignment algorithm that is tolerant

of long gaps to account for the RNAs missing introns

* How do we favor longer gaps algorithmically ?

Aftine Gap Alignment has 2 parameters for gap penalties :

is penalty for opening a gap
: 2 3 2) I

i penalty for continuing a gap
: I

& How do we score a gap cluster of size n ?

↑ logarithmic in n ? Quadratic in n ?

↳ most useful : linear in n :

score of gap cluster = < + n(T)

This algorithm is gonna have atrices insl
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